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Chapter -9
INTEGRATION
Sgfashedra e (Multiple choice question) 7. / GBx+5)dx = ........
1 f dx  _
S 1+xE T a) 3x’+5x+c b) 3x’+5x+c¢
a) sin'x+c b) tan'x+c 2 2
<) 3%‘ +e d) 3; +5x+¢
o) log(1+x*)+c d) cot'x+c
ANSWER
2X
2 [22= Dos o e o
(4) c ) c (6) c

s -l -1
a) sin"x+tc¢ b) tan'x+c¢ 7 d

c) log(1+x*)+c d) cot'x+c

Raa =l &1 WX ( Fill in the blanks )

a) x"'+c¢ b) x"'+¢
1 2. f(4e“+ Ddx=.......
Xn Xn+
C) n+1 +c d) nti +c

4.f(x+2)dx= ........
a) 2e*+tc b) e*+c¢c
er 2x 5. /ex[f(x)+f(X)]dX: .......
c) 5t d) 5t
sec’x . _
s [Laxe o 6 ) ot 45
1 7. f\/ax+bdx= ........
a) -?+c b) 1
ANSWER
c) logx+c d) None of these
o [Vioem . e 2 deee
2
a) s+ e b) x5+ 3 %X%+2X%+c 4X7+2x+c
) %X%Jrc d) None of these 5 ¢ flx)te 6 tanx-x+c
7 2(ax +b)”

3a



9 ITAMT UHA (Short Answer type question)

1. Evaluate f%dx

Ans : -

We have I=f§f11dx

:/x-1+2dx

x-1

=x+210g|x- 1]+¢
2. Evaluate f(4x3+3x2+2x+4)dx

Ans : -

We have I = f(4x3 +3x2+ 2x +4)dx

_/4X dx+/3x dx+f2xdx+f4dx

=4 T+3 ?4'2 7+4X+C

=x'+x’+x’+4x+c

3. Integrate fe“dx

Ans : -
We haveIZfe”‘st
Put 3x-5=t
S.3dx =dt
T
codx = 3dt

I=%—fe‘dt=%e‘+c=%e3“+c

4 2

4. Evaluate fx+37)3<+1dx
X

Ans : -

4 2
We havel = /)(Jriifﬂdx

(53
=/<X+%+%>dx
=/xdx+3/%dx+/%dx

2 —
:%+3log|x|+<2xlz>+c

2
=X7+310glxl—§+c

5. Evaluate /’4x2 Jx*+3dx

Ans : -

We have I=/4x2«/x3+3dx

Putx’+3=t ..3x*dx=dt
1
. 2 — 1
SoxAdx = 3dt

4ffdt—%t

3
2

=S +3vie

6. Evaluate /(mxk)gx>e*dx

N\'—

1

+c
+

ro|—
[S—

Ans : -
We have ]l = f(lﬂd()gx>e*dx
X

=fe"<logx+%>dx .......... eqn(l)
Let f(x) =logx .. f(X):%
.. From eqn(1)
=/e*[f(x)+f(X)]dX
=e*(x)+c¢

=e"logx +¢

7. Integrate 1+X2

Ans: -
Wehavel—flJr 7dx
Putl +x*=t ..2xdx=dt
al= [ iogl tl+c

=log|1 +x*|+¢



8. Evaluate f(ngz)(i‘ll) dx

Ans : -

+
We have | _/—(x _82);_1 41>

/’(x +2°)(x - l)dX

x*-2x+4

dx

=f(XJF2)(X -2x+4)(x-1) N

(x2-2x+4)
Zf(x+2)(x- 1)dx

f(x +x-2)dx

<2
?+7‘2X+C

9.If % = 5x*+2 , then find the value of y.

Ans :-
dy _ .
Wehaved—x— 5x°+2
sody = (5x7+2)dx
Integrating both sides , we get
[dy= [ (5x+2)dx

3
y=5-%+2x+c

. y=%x3+2x+c

2

10. Evaluate /XX jrll dx

Ans : -

2 -
WehaveIZ/);_ildx—fde

1 x-1

f( >dx
-/

[(X+ 1)+—]dx

=7+x+210g(x- 1)+c
11. Integrate f(6e"-%>dx

Ans : -

We have ]l = f(6e* - 32

—_[6edx f —5dx

Jax

=6/exdx-3f%dx

= 6e*-3<-%>+c

=6e*+%+c

12. Evaluate f(4x3 S3x+2x + 1)dx

Ans: -

We have I = f(4x3-3x2+2x+ 1)dx

—f4x dx - f3x dx+/2xdx+f1dx

=4. 4 -3 74‘2 7+X+C

=x'"-x*+x*+x+c

13. Evaluate f(ax3 +bx’+cx +d)dx

Ans: -

We havel =

f(ax3 +bx*+cx +d)dx

:/ax3dx+fbx2dx+/cxdx+/ddx

4 3 2
=a~%+b~%+c-x7+dx+k<

3 2
L= +bx O S

4 3 2

(x-3)

14.Eva|uateI=/ dx
Ans: -

2
Wehavel=f(X 3) dx
_/x 6x+9 4
:)§2+1_6.X12+1+9.x'15+1

74‘1 7‘*‘1 ‘7"'1

-6 K 9% +c

B

Z%x%-6x%x7+9x2x%+c

:%X%'4X%+ 18X]7+c

where

k = constant

f(x32 - 6%/ +9x /4 )dx

+c

|



15. Evaluate /x«/x2+5dx

Ans : -

Wehavel=/x«/x2+5dx

Putx*+5=t ... 2xdx =dt

) _1
..xdx—zdt
1
_1 _1 241
1=5 [Vtdi=5 1,
2
3
_1t2 120 0 e
—2;+c—2><3(x+5)2+c
2
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